ANSWER KEY FOR THE COMPANY QUESTION

Ql.=>ANS=>4%

Q2. =>ANS=>14

Q3. =>ANS=>13

Q4. =>ANS=>B Only
Q5. =>ANS=>12 Years
@b, ==ANS=>Thursday
Q7. =>ANS=>Monet
Q8. =>ANS=>44

Q9. =>ANS=>1 walermelon, 2 chickeoos, 1 peanut
Q0. =>AN5=>3

Q11. =>ANS=>1§

G112, =>AN5S=>There is much pepsi in the first vessel as there is water in the
second vessel.

Q13. =>ANS=>781250

Q14. =>AMNS=>92

Q15. =>AN5S=>.50

Q1é. =>ANS=>1-1/40

Q17. =>ANS=>3

Q18. =>AMNS=>the first & stalements are frve and the rest are false
@19, =>ANS=>2

@20. =>ANS=>Two paris honey

Q21. =>AN5=>108

@22 ==AMN5=>583

Q23. =>ANS=>15

Q24 =>AN5=>All the Statements are False



@235, =>AN5=>8 hours

Q256. =>ANS=>488

Q27. =>ANS=>In order to Win Alices ,1* move should be 1 move.
@28, =>ANS=>7

Q29. =>ANS=>.50

Q30. =>ANS=>320

Q31. =>ANS=>24

Q32 =>ANS=>there is less pepsi in the in the first can than water in the second
can

@33, =>ANS=>] orange, 2 olives, 2 Grapes

@34, =>ANS=> the first 4 statements are true and the rest are false
@35, =>ANS=> B only

Q346. =>ANS=>11.14 Hrs

Q37. =>ANS=>34

Q38. =>aANS=>4.15

Q39, =>ANS=>154

Q40. =>ANS=>.20

Q41 =>ANS=>108

Q42 =>ANS=>2

@43, => ANS=>4

@44, =>ANS=>10 Hours

Q45. =>ANS=>All the stalements are false

Qdé, =>ANS=>1250

Q47. =>ANS=>24 Years

@48, =>ANS=> In order to Win Alices .1# move should be 1 move.

G, ==ANS=> 20 Hours



Q50. =>ANS=> There is as much Coffee in the first tumblar as there is milk in-
the second tumbler.

Q51 =>ANS=> 50
@52, =>ANS=>All the statement are false

@53, =>ANS=> There is as much Coffee in the first vessel as there is oil in the
second vessel.

Q54. =>ANS=>24 Hours

Q55. =>ANS=>2

Q56, =>ANS=>4

Q57. =>ANS=> All the stalement are false
@58, =>ANS=>50

Q59. =>ANS="> There is as much Cola in the first vessel as there is Ink in the
second vessel.

Q60. =>ANS=>18
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